


 

 

P

 

POS.  CODICE  DENOMINAZIONE  Q. TA’ 

1  00003305   ANELLO SEEGER E12  4 

2  00003424   CUSCINETTO 6001 2RS  4 

3  00003520   ANELLO OR 2031  2 

4  00004044   LEVA SCATTO M6 x 30  2 

5  00005102   VITE AUT. TC Ø2,9 x 6,5 ISO7049  4 

6  00018307   VITE TCEI M8X16 UNI‐5931 ZINC.  2 

7  00018350   VITE TCEI M8X30 UNI‐5931 ZINC.  2 

8  00018431   VITE TCEI M8x10 UNI 5933 ZINC.  4 

9  00018521   VITE TBCEI M6X20 ISO‐7380 ZINC.  8 

10  00018526   RONDELLA PIANA Ø8 UNI‐6592 ZINC.  2 

11  00018552   RONDELLA PIANA Ø6x18 UNI3351 ZINC.  4 

12  00018800   TAPPO NYLON  4 

13  00150800   VITE STEI M 8x8 P.P. ISO‐4026  3 

14  36050608   ECCENTRICO  4 

15  36050609   CANOTTO PUNTI FISSI  2 

16  36050610   SPINOTTO PUNTI FISSI  2 

17  36050801   TASSELLO  8 

18  36150607   TASSELLO RIFERIMENTO  1 

19  36204812   RINFORZO POSTERIORE 21  1 

20  36800228   TASSELLO PICCOLO M6  2 

21  46050602   PORTABATTUTA POSTERIORE  2 

22  46050613   RIGA MIL.BATT.POSTERIORE_DX  1 

23  46050614   RIGA MIL.BATT.POSTERIORE_SX  1 

24  46150603   PROFILO BATTUTA POSTERIORE 29  1 

gianninidavide
Rettangolo

gianninidavide
Rettangolo


